Algebra - Non-Linear Simultaneous Equations

Solve algebraically these simultaneous equations.

3x+2y=7
y=x°-2x+3
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Solve algebraically these simultaneous equations.

3x+2y=7
y=x>-2x+3 [7]
Sul:)s‘l:;buke £or ‘:)

Y + Ll =Zg#3)=T]

Ax +2x"—4x+6—-7 =0

le—-i -1 =0
ey 2. +x —2x -1 =0
-H-??_-V x(zﬁ_,)—-l(z»w):o
-l +
(x-1)(2x+1) =0
E.ther > = =O ocr 2x+1 =0
>¢ = | 2x = -
Se = —"7:
Susjl”vl‘vk ‘FB’ - &
when o = + | when 2 = -%
SAdyw ] 5+ 2971
— 3
29 = T7-3 2‘] = +2
299 = 4 = 17
pe. 2:-3 7
s Bl
% Y = L
4= 2 G



	Algebra - Non-Linear Simultaneous Equations.pdf
	Algebra - Non-Linear Simultaneous Equations Solution.pdf

